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1...  Using the data that follows,

(a) assuming parts are currently being purchased from an outside vendor
determine the optimal purchase order quantity.

(b) assuming parts are being produced internally by the company, determine
the optimal production length.

©) comparing total annual costs of purchasing all parts or producing
internally all parts, determine which option is the most cost effective.
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2...  Using the discrete, single period demand data and other information given below,
(a) determine the optimal single period order quantity.
(b)  The mean of the discrete demand data is 1.2 and the standard deviation is
1. Using a Normal distribution approximation of the data and the rule that
the resulting order quantity is rounded to the nearest integer, what is the
revenue penalty ( if any ) for using the Normal approximation?
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3...  Using the following data and assuming the “lost sales” case holds,

(a) determine the optimal order quantity and reorder point for a continuous
review inventory control system.

(b) determine the resulting expected annual holding cost and expected annual
lost sales cost.

(©) determine what the resulting effective SLM; is.
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4... Given the following Markov chain transition matrix and other information,
(@) determine the probability of being in state 1 after 1 transition and being in
state 1 again after 4 transitions. Alae tuie, 4 Otate 2
(b)  given the starting probabilities q; and q; , determine P{(4) and P,(4).
(©) given the rate of revenue generation when in a particular state, R; and R, ,
determine the expected rate of revenue generation in steady state.
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